1. Which of the states ranked first in the Sustainable Developmen Goals Indin Index, c
~ 2020-21 released by NITI Anyog?

(A) Himachal Pradesh (B) Tamil Nadu

(C)  Andhra Pradesh (D) Kerala Series

A H g S Hea s SEw HRE gawE, 2020-21 # #5 |/ 75
e T 0T &7

() Teas vl (B)  affweg

(C) AW (D) WA

_2 Consider the following quote:

“On 26" Junuary, 1950, we are going to enter a fife of contradictions. In politics, we will have
equality and in social and economic life we will have inequality.”
To whom among the following is this quote altributed”?

(A) Mahatma Gandhij (B Babasaheb Dr. Bhimrao Ambedkar
(C)  Sardar Vallabhbhai Patel (D) Lal Bahadur Shastri
frafafaa sgor o e st '

“26 ST, |95ﬂaﬁmﬁaﬁﬂﬂ$ﬂtaaﬂmmmﬁﬁMﬂmmm
mmmwmm#mmmnm

ﬁ!mﬁrmﬁﬂﬁﬁvaﬂﬂsﬂmmr-ﬂufammh
(A)  FEreaT ey (B) mﬁ.g

(C) FER TooH HTE w2 (D)

- The Electoral College for electing the President ol Tndisingll
(i) Elected members of Rajya Sabh i

(i} Elected members of the Legiglafiv

(iii) Elected e Legistativi

it only
(D) iandii
ﬁﬂhﬁﬂ!ﬂ#ﬁﬁfﬂﬁa##wanﬁlﬂ#
(B) Fadii
€y it A (@) i3
4. The state bird of Himachal Pradesh is : :
(A} Monal (B) Wcﬂmegnpan
(C)  Himalayan Bulbul (D)  Great Barbet
ReaATTer uder & e gah &l
(A)  #Erw (B) OSSR
© ey gegw (D) TR
5.

Who among the following fixes the date of election of the Deputy Speaker of the Lok Sabha?
\A) The Secretary General of the Lok Sabha

(B) The Protem Speaker of the Lok Sabha

(C) The President of India

(D) The Speaker of the Lok Sabha

3 3C-16/2022-Series



10

ﬁmﬁﬁﬁﬂ#ﬁamaﬁmﬂﬁwﬂmﬂmﬁ C ‘

(A) FTHEHAT & FEraa
Series

(B) drEaHT & urEw wfter

(C) WA & rpufy

(D) FYHHHAT e

Which river is the Kol Dam in Himachal Pradesh buill across?

(A} Rawi (B)  Beas

(C)  Sutlej (D) Sainj

feamara w&er 3 e aig frg =8 g &7

(A) Tl (B) TS

(€  wos (D) #S

Because of its high clay content, the soil develops wide cracks in dry season. It is poor in humus yet
highly moisture-retentive, thus responiding well to irrigation. Cotton is the most traditional crop
where this soil is found. Identify the soil type.

(A) Red Soil (B) Alluvial Soil

(C) Laterite Soil (D) Black Soil

ey lvem am e (clay) AT 3170 @t & awwor o At # 30 Ed A ot e
e &1 SFH GAE B T Qe & IR T weafrw el uRor o areh B, 3% we s
fore sreel ufafenan e &1 e T WA wEe & e o G d o s g fredt &

eargeadiis of

(A) wra fEd (B) e s

(C)  eTEe fagd (D) @l BIEd

The first 5G call in India was recently tested at?

(A) 1T Kanpur (B)  liSc Bangalore

(C)  NT Madras (D) 1T Delhi
HITA & Tgell SG Hiel &1 & & & GQeror gl vy aray am

(A)  HTEITEE FAYR (B)  ImSamdvadr Fareie
(C)  NEIEE FETH (D) wEEd R

. is aimed at building an extra decentralized web that puts users in control of
their data and identity. -

(A) Web 2.0 - (B) Web3.0
(C) Web 3.0 (D) Web4
#3000 U AR RSpd a7 o= § S sunersdiast & sa@ 27 aiv
UEdre & [T A @A gl
(A) dT2.0 (B) @450
(C) @30 (D)  A;40
What is the architectural style of the temple built on the edge of the Prashar lake?
(A) Pyramidal shaped (B)  Nagara
(C)  Pagoda (D)  Cone shaped

4 3C-16/2022-5eries
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TR SR & R 73 #i f wue dhe a g C

A RS & s o (B) @ANH

(© St (D) 9 & T 1 Series
- The Cripps Mission was sent by the British Government to visit India in the year:

(A) 1946 (B) 1935

{(C) 1942 (m 1919

ﬁmrmmmmmﬁﬁ#mmﬁmnmm

(A) 1946 (B) 1935

() 1942 (D} 1939
. :"“I‘Ii'-'hl F;Tﬁﬁiﬂ“ of law did the Navtej Singh Johar vs Union of India case of the Supreme Court

eal with?
[A:l Sm:t?un 124A of IPC (B) Section 377 of IPC
(C) Section 66A of IT Act (D) Section 497 of IPC

A A Sacts e SR e M1 H Ao e ¥ R arae & Ff am
(A) et Yy umr 1240 (B)  médrah i any 377

(€ I sRRTE R amesr (D) b & ury 497

Which among the following books was authored by Mahatma Gandhi?
(A) My Truth (B)  Hindu View of Life
(C) Hind Swaraj () Discovery of India

ﬁmﬁﬁaﬂ#ﬁh#mmﬂwmﬂtw

{m # (B)  ofae & feg afeasior
| R PEXAMS e

The “Police Commemoration Day’ is observed in India on?

(A)  Januarv 15 . (B)  November 26
(C) July 26 (D}  October 21
AR # Yo WifA Raw &7 #@arm s gy
(A) TGN 1S (B) g4y 26
(C)  S[eTS 26 (D) @Rl
- In which district is Bandli Wildlife Sanctuary located?
(A) Kangra (B) Sirmaur
(C)  Mandi (DY Kullu
ded aegsia FHaed Ry SR A e
(A)  TITE (B) ﬁmﬂ:
€y w7 (D)  Tee
- Which mountain pass provides access between Lahaul nn_d Spiti valleys?
(A) Kugti (B) Ghasutri
(C)  Inderhar (D) Kunzum ]
e B w23 a3 v wfeat & de ok vee Far e
Ay ok (B) =gA
©) R (D) FoH
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For questions 17-19, choose the most appropriate meaning of the following idioms:
17. Forty winks

fHol

(A) Sleep disorders (B) Eye sight related issue

(C) A short sleep during the day (D)  Long sleeping hours
18. Raise some hackles

(A) To do a great task (B) To annoy

() To make someone happy (D)  Toempathise w ith others
19. Throw in the towel

(A) To give up (B) To resisl

(C) To have a bath (D)  Tofight

For questions 20-22, choose the most appropriate synonyms of the following words:
20. Shocked

(A) Pacified (B) Fascinated
(C) Impeded d (D)  Appalled
21. Didactic

(@)  Frightening

(A) Enlightening
(D)  Sensational

(C) Disgusting

22. Spurious _
(A) Honest (B) Spmli_:d
(C) Counterfeil ) (R)y  Genuine

For questions 23-25, choose the most appropriate antonyms of the following words:

23. Pandemonium (B)  Confusion
(A) Noisy
(C) Protest (D) Peace
24. Modesty ;
B Sobriety
(A)  Grandeur EU; Faimess
(C) Propriety
25. Concise (B) Lengthy
(A) Brle_!' D) Laconic
(C) Abridged
For questions 26-29, fill in the blanks with the most appropriate word:
26. We mustnot shy ___ taking risks in life. )
(A) upon (B) with
(C) away from (D) to
27, Due to her illness, she could not finish the work ___time.
(A)to (B) by
(C) upon (D) on
28. The police was directed to his business dealings.
(A) look on (B)  lookinto
(C) look up (D) look to
29. Despite the injuries, Neeraj managed to the gold medal in the tournament.
(A) pull out o (B) pull of
(C) pull in . ey (D) put in

3¢-16/2022-5¢



30, Select the option which best expresses the sentence in active/passive voice: c
| remember my sister taking me 10 the museum.

(A) I remember taken to the museum by my sister.

(B) | remember being taken to the museum by my sister, Series

(€71 remember myself being taken 1o the museum by my sister.

(D) I remember | was taken to the museum by my sister.

For questions 31-32, select the appropriate option to change the sentence from direet to indirect speech
and vice versa.

31. | asked my sister if she had returned the mobile phone ta her friend.

(ArTsaid to my sister, ‘Have you return the mobile phone to your friend?’

(B) I asked my sister, *Did you return the mobile phone 1o my friend?”

(C) 1 said to my sister, ‘Have vou returned the mobile phone to my friend?

(D) I asked my sister, *Have yvou returned the mobile phone to vour friend?’

32. “Where will you be tomorrow’, she said, ‘in case I have to call you?'

(A) She enquired about his whereabouts the next day in case she would have to call him.
#(B) She asked where he would be the next day in case she had to call him,

(C) She asked him where he will be the next day in case she had to call him.

(D) She said to him where he would be tomorrow in case she would have to call him,

33. Tord gt garar sfda

(A) Haadr (B) Eﬁ-ﬂ

© gud . (D) @
34, St R o wfder aren

(A) A" (8) Ul

(C) adx (D) qATaEH
35. R Przeon

A) o (B)  qaam

(€ foefar (D) ot
36. B HR U9 & &g & A

(A) @IS (B) qdg

€y My (D) FwAT

Pt wat (37-42) 7 ar-woE & T W U e TR
37 Yot Remsra & fovgr s @6

(A)  ¥@ivsd (B)  Hfasmsa

(C)  Raw (Dy JEvs
8. Sl o wiva @)

Ay gitw (B) I

© (D) I
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19, TEagds fra s &

(A) 3Ry (B)  TaeEar
O ga (D) AR
40, “HA B YA areh aE
(A HFeR (B) 9w
() wfRm (D)  AAWT
V. R s e gy
(A)  HIHE (B)  Igd
(€) IR (D) REwR
12, A1F A% # vw a2 arar
(A) e (B)  FafEw
)y Rafas (D) affs

43 mﬂmam#ﬁmmmkmmmmm:& artan
SET AT Toe & fare, fvwat wrar: SHTGT 3 AT o ST &) |
(A) &G, TaOATEAFT (B) T, scaress
(C)  TOEER, HTEEE (D)  HUTo, HAaTeRS

4. e & AT O THRET ey o 3 & |
(A)  &FaT HaT (B) O e i
(C) &THAT 8 3T cag agar (D) O @ f

!
45, FTAAE T vl otarndy i Arees dhnat 3 3§ 1 &, 7% & fr SRR
FAIY S I A M T e, - T o e 3t ag A
(A)  Taare, oftsmr (B)y T, gEam
(€)  TrE=aar, amermes (D)  TapRE, fRaf
46. " HTHIN / A1 HTAT HETay & 7Y &
(A) 3791 331 & (B) 9% Fav g
(C)y  armfra g (D) ZAF AP FE

47, ﬁmﬁm?mﬂﬁﬂammﬁaaﬂﬂmﬁaﬁ%z
(A) g (B)  HeTs
(Cy  wfe (D) yam

48, ﬁ‘lﬁaﬁaqmﬂﬁmmmmﬂmﬁﬁﬁ: 3
(Ay  ZF (8) dam=y |
() Helol (D) o =

] mﬂiﬂﬂ#



49,

50.

51.

13,

How many times does the digit 6 appear while writing integers from 400 1o 9007 C
(A) 201 (B)y 130

(C) 170 (D) 200 -
400 R 900 % qUites vt wara 37 6 Perelt At amen &7 Series
(A} 201 (B} 150

(€ 170 (Dy 200

A competitive examination was attended by male and female candidates. Qut of the candidates who
applied 60% are female. 18% of the candidates have passed the examination, 22.22% of the
candidates who cleared are male. What percentage of female candidates has not passed the exam?
(A)  T76.67% (B)y  3333%

€y 40% (D)  Cannot be determined

v i ol 3 e 3 ARar swfant 3 ann R dides e sehEant &
60% FIESTT §1 18% Saafreantt & adrem sefiot 1 &) sehot 22 ard seazant & 22.22% T §
Torarel uferere R seafeant & aiven st a8 & &

(A) T6.67% (B) 33.33%

(Cy  a0% (D) fauiE =8 e s wwar g

Ramesh buys 20kgs of wheat every month for the family. The cost

Rs.14 per kg to Rs.16 per kg, If Ramesh does not want to increase his
what quantity of wheat should he buy afier the price increase?

(A)  125kg (B)  16ke
(€)  175ke (D) 165ke

muﬁma:mHHﬁﬂzﬂﬁmﬂﬁm?:ﬂﬁﬁﬁmnammMﬂm
lﬁmmﬁmmﬂﬂéEiuﬁ:mﬂﬁmmm&aﬁmmtmmqﬁm
e 5% e AT A i Wi afte

of wheat is increased from
expenditure on wheat. then

(A) 125kp (B) lokg
(C) 17.5kg (D)  165kg
- A train of 150m length travelling at 90 kmph can cross a tunnel of length 250m in...
iA) 12 seconds (B) |5 seconds
(C) 16 seconds (D} 18 seconds

iiu#&ﬂﬂ@ﬂ%tﬁmmgﬁﬂﬂm#mmgzsumr-t"arrgdh133‘1:
B OR & JDA & ...

(A) 123 H (B 15¥FT A
€) 16qFEH ' D) I8EFERH

What is the length of the longest pole that can be placed in a room 24 m long, 16 m wide and 18 m
?Aﬂfﬁ 24 m (B) Bm

) 34m Dy 42m

24 T T, 16 AT 91 3 18 AT A FAY A W 0 W T waR T @R A e ww
(A)y 24 #rex (B) 28

(& 3adeT (D) 28T
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54,

1
LA

36.

57.

59.

The surface area of two spherical balls is in the ratio 4 : 9, Find the radius of the
bigger ball, if the radius of the smaller ball is 4em, '

(A)  Scm (B) 735cm

(C) 6 cm (D) 9cm

o TR et @ F AR 49 & g #* &) @ Az A Ao Series
() ST P afX o) dte A Boar s dar )

(A)  s3A (B)  7.5®aA

(C) 68 (D) 9@

- A fish tank is in the shape of cuboid. Shyam who wants 1o increase the volume of the tank S0 s fg

have more fish, increased the length, width and depth of the tank by 10%, 15% and 20%
respectively. By what percent has the tank’s volume increased?
(A)  46.2% (B) 33.1%

(C)  51.8% (D) 62.0%
U AT S ga1ar & 3w 3 L) anmmmmmmﬁuhmmm
e R, & Y g, aterd 3t arerd & g 10%, 15% AR 20% B FiE T &) Em

AT & freat ufaera A gy [$1:

(A) 46.2% (B) 33.1%

(C) 51.8% (D) 62.0%

Ja.mes can do a piece of work in 50 days. Peter can do the same piece of work in 40 days. How long
will they take to complete 45% of the work when working together?

(A) 5 days (B) 9 days

(C) 7 days (D) 10 days

ST U S Y 50 Rt 3 @ waar &) dvex 3wl e 40 Tt 3 w7 wawvar &1 v wrw @
T FC 3% 45% BN QU &7 3 Rctar o sovm

(A) s5fe= (B) ofegy

© 7%= (D)  10fE

The Earth’s atmosphere is mainly heated by?

(A)  Short wave solar radiation (B)  Long wave terrestrial radiation
(C) Reflected solar radiation (D) Scartered radiation

gt & arg#se HEAd: frwas g 9 Rear smar &

(A) g a0 Ei fafeor (B) oy aer vl fafroy

(C)  arafda wh fafkor (D) farEwr gan Rafsoor

- How are evergreen plants with woody stems having naked soed classified?

(A) Angiosperms (B) Preridophytes

(C)  Gymnosperms (D) Bryophytes

AT A ATel RSN & A AT HeraeR Qtat i v s aeffee R srar g
(A)  FHTgadsh (B) REmEew

() e (D)  @rAYEEH

Which of the following organelles in not found in animal cells?
(A) Lysosome (B) Cell wall
(C)  Endoplasmic reticulum (D) Cell membrane

10 3C16/2022-Series



6l.

62.

63.

65.

Rrfale 3 @ Hta 1 AR 3w S1 SRR A ) ara S 7 ' C

(A)  WIEEEH (B)  ¥odrd
(€) 3N veead Sfaw (D) A e Series
. The stars twinkle in the night because

(A)  They emit light intermittently

(B) The eanth’s atmosphere absorbs light intermittently
(C) The star's atmosphere absorbs light intermitiently

(D)  The refractive index of air in the atmosphere fluctuates

T & an e € ouifs

(A) A TH-TF T E SeRTHA T E

(B) et & AYHSH T-5 Y WM B WM dear ¥
(C) Y T ATATAIOT Fh-B HT THI0 B HTINAT e &
(D)  ATgHYES A T & UGS # SAN-TeTd EeT e &

Which one of the following is called the King of Chemicals?
(A) Sodium chloride (B) Nitric acid
(C)  Sulphuric acid - (D)  Sodium carbonate
Arafaila d ¥ e e & TS S Sar e
(A)  wfEus FeNEE (B) @R 3T
(C) \HYRE 3T (D) HfEas wEEe
Vinegar is the trade name for
(A) Formic acid (B) Phenol
(C) Carbon tetrachloride (D) Acetic acid
B @ ] SIS 1A &
(A) IS IF (B) fFaEw
(€) T gEFANIES (D) o s
Water in plants is transported by
(A) Xylem (B) Phloem
(C) Epidermis (D) Cambium
qtet 3 5w o afaes gr fFa ST &
(A) SEAH (B) olTH
) ufefa (D) Hfaaw
. During the process of respiration in human beings, the exchange of gases takes place in
(A)  Alveoli (B)  Bronchiole
(C)  Bronchi (D)  Pleura
A 3 A & wionan & 2R, At & eEE-verE AT
(A) i (B)  WfewaTe
© g D) FEFHE
What is the value of X in the sequence 40, 20, 20, 30, 60, 150, X?
(A) 300 5T B) 450
() 600 (D) 250

" 3C:16/2022-Series
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67,

68,

A 40,20, 20, 30, 60, 150, X 3 X T AT &7 &7

(A} 300 (B) il:g
'I ﬁl}n L) (D] @ VRN
i, R T Series
Find the next term in the given series 369, 387. 3517 360, 342, o
(A) 343 (B) 351
(C) 363 (D) 376
&1 I AW A HAST G WIS 369, 387, 351,360, 342,
(A) 345 (B) 351
(C) 363 (D) 176

ITin a certain code language "FORMAL’ is written as ‘IRUIXI". then how will "BETTER' pe
written in that language?

(A} EHQWBO (B) EHWORQ
(C)  EHWQBO (D) EHWOQOR

7T v TR g smw 3 FORMAL Y IRUIXI Fovar S &, &t 5+ amer 3 BETTER 71 8
fera s

(A) FHQWBO (B) EHWOBQ
(C}) EHWQBO (D) EHWQOB

Information for questions 68-70:

K. L. M. N, O. P and Q are seven students studying in three different colleges X, Y, and Z. There
are three girls among them, one in each of these colleges, Two of them study mechanical
engingering, two study medicine and one each study biotechnology, pharmacy and electrical
engineering. M studies with only her best friend K who studies pharmacy in college Y. No girl
studies cither biotechnology or electrical engineering. O studies mechanical engineering in college
X and his brother P studies electrical engineering in college Z. None of the two who are studying
medicine are in college Y. N studies biotechnology along with O and Q.

vE 68-70 % ToT H{aaT

K, 1..M.N.n.P}ﬂ?ﬂmm?#a?mam-mMK.vamzﬁuzrkﬁm#
mmﬁ,m#mﬁﬂaﬁwhmﬂaﬂﬁm'ﬁﬁmﬂwﬁmmﬁ
AREICT ﬁmm%mm-wm.mmmﬁhﬁuﬁwﬂ
e FA EI M mmmmmwmmtmmvﬁmﬂm
T HIA B wmmmmMmzﬁﬁzﬁmﬂﬁwaﬁmh 0
mx#mmmgmmwpm;ﬂmmﬂ
TETE AT mtlaﬁﬂﬂaﬂ#mmﬁlﬁvmﬁMEﬁTmtzﬁmvﬂﬂﬂhﬂaﬂt
Q & T N TTARTAAH F IeaaqT Franaeh &)

In which of the colleges do three of them study?

(A) Z (B) Y

() X () None of these
g1 A v @tetsr # 7 et aga

(A) Z (B) ¥

(Cy X (D) ZEAAFFETE

12 o g 107 7-Seres




69. Which of the following pairs of students study medicine? C

A NQ
<€ QL

Rrafafaa 3 ¥ ot o Fia a1 AT AR &7 37Tad a1 82

A)  N.Q
©r QL

(B) Q.P
(D) O,L

Series
B) QP
(D) O,L

70. Apart from O. who studies mechanical engineering?

(B) M
(D) None of these

(A) L
© Q
0 & 37aTaT, AHfacher SAfARaT Pl T &2
(A) L
© Q

@8 M
(D)  gedt § IS A

71. Museum is related to curator in the same way as Prison is related to ?
(A) Manager (B) Monitor
©) Jailor (D) Warden
WWWW#E&W%WWWWW’#@
(A) UEU® (B) AR
Q. SR (D) dEA

72. Choose the alternative which closely resembles the mirror

ANS43Q12
ANZSHEDOT S
3) ZMNAEPOST

A) 1 .
c 3

image of the given combination.

(2> STOQERZSUNA
(2) FrSOrEAUNZ

(B)2
(D) 4

Wﬁmgﬁmmmma;muﬁﬁmasmh

ANSa43Q1 2
1) AMNZSPEOT S
(3) 2ZMNAEPOST

(A) 1
© 3

Information for questions 73-77:
Five professors Dr. Joshi, Dr. Davar

- subjects Zoology, Physics, Botany, G
and Osmania.

(I)  Dr. Choudhary teaches Zoology i

(I) Dr. Natrajan is neither in Osm
Geology nor History.

(I1I) Dr. Zia teaches Physics but neither in Bombay U

*

(2) Sroere2nA
(3) FSOPrEANS

(B) 2
(D)4

Dr. Natrajan, Dr. Choudhary and Dr. Zia teach five different

eology and History in four Universities Delhi, Gujarat, Bombay

n Bombay University.
ania University nor in Delhi University-and he neither teaches

niversity nor in Osmania University.

(IV) Dr. Joshi teaches History in Delhi University.
(V) Two professors are from Gujarat University.

13 -



WA 73-77% fore e C
U WreaOst 3 SRl 3 3w, 3 Acwer. o, dtudr 3 o B an

foufarerdl Reeh, o, @i s sefaa & o s R Series
wioTfarae, i, qereafar e, sfaeer 3R sfew qed ¥

() =%, Sl av Rrfrarer # wioe g )

(n ﬁ.mammﬁmﬁmaﬁﬁaﬂzaﬁﬁﬁﬁﬁmﬁmaaﬁ
=T ver & 3 & sfer)

() ﬁ.mﬁmm%mamahaﬁmmﬁmaﬁmmﬁmmm
(IvV) ﬁ.mahmﬁmﬁumﬁgﬁmwm%l
(V) erureas IR Rarfrres & €

73. Who teaches Geology?
(A) Dr Natrajan

(B)  Dr.Zia
© Dr. Davar . (D) Dr. Joshi
Hia=T Bl yarar o

(A¥ 3 Jee (B) =i faram
€) sizIw (D) TSRk

74. Dr. Zia is from which University?
(A) Gujarat

(B) Bombay
(C) Delhi (D)  -Osmania
. 1. for forw Rrfarer % .
A TR (B) @i
(C) feoh (D) IEaAfaan
75. Who teaches Botany?
(A) Dr. Zia (B) Dr. Davar
(©) Dr. Joshi (D) Dr. Natrajan
T fI_Tet wle werar &2
(A) =% o . <68 sz
(C)  sramb (D) sidcEg

76. Who is from Osmania University?
(A) Dr.Natrajan

(B) Dr. Davar
(C)  Dr. Joshi (D)  Dr.Zia
SEATIAT fArfarer & @i
(A) s acsa 87 siEmy
(C)  siamb (D) =t fomr

~7

77. Which of the following combinations is correct?

(A) Dr. Zia-Delhi University (B) Dr.Choudhary-Gcology
© Dr.Davar-Bombay University (D) Dr. Natrajan -Gujarat University

14



78.

19.

80.

Pl i gatsre # ¥ Sl & Tel 82 C
(A) .o Reeh fafaare (8) 3wl - sfawe

3 - TR PR () 3 A - g R Series

If in a certain language MYSTIFY is coded as NZTUJGZ, how is NEMESIS coded in that language?
(A)  MDLHRDR (B)  OFNFTIT

(C)  ODNHTDR (D) PGOKUGU

afz v AT A A MYSTIFY & NZTUJGZ ¥ ¥ & Fifed fmar Sar &, ar 38 a1 &
NEMESIS &I & i3 forar smeam?

(A) MDLHRDR (B~ OFNFTIT
(C)  ODNHTDR (D) PGOKUGU

Pointing to a man, a woman $aid: "His mother is the only daughter of my mother." How Is the
woman related to the man?

(A) Mother (B)

Daughter
© Sister (D)

Grandmother
ww@rmgqmmgv,wmamz"Mﬁmﬁﬁmﬁaﬁ%l"mw
QY W T HAY §7?

(A AT (B) @
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If M + N means M is the brother of N; M % N means M is the father of N and M x N
means M is the sister of N. Which of the following means A is the uncle of C?

(A) A%BxC (B) BxC%A

(C) A+D%E%C "(D) A+F%GxC
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(A) A%BxC (B) BxC%A
(Q— A+D%E%C (D) A+F%GxC
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